
Pre—Calculus       Name: ___________________________ 

VECTORS 

Determine whether the following vectors are equivalent. Show ALL of your work for credit. 

1)   𝑅𝑆⃑⃑⃑⃑  ⃑ = 𝑋𝑌⃑⃑⃑⃑  ⃑ given that 𝑅 = (−3, 7)  𝑆 = (0, 4)  𝑋 = (−2, 11) 𝑌 = (1, 14) 

 

 

 

2)    𝑅𝑆⃑⃑⃑⃑  ⃑ = 𝑋𝑌⃑⃑⃑⃑  ⃑ given that 𝑅 = (2, 0)  𝑆 = (−6, 8)  𝑋 = (4, 4) 𝑌 = (12,−4) 

 

 

 

3)    𝑅𝑆⃑⃑⃑⃑  ⃑ = 𝑋𝑌⃑⃑⃑⃑  ⃑ given that 𝑅 = (9,−5)  𝑆 = (−1,−1)  𝑋 = (10, 0) 𝑌 = (0, 4) 

 

 

 

4)   𝑅𝑆⃑⃑⃑⃑  ⃑ = 𝑋𝑌⃑⃑⃑⃑  ⃑ given that 𝑅 = (−11, 17)  𝑆 = (9, 6)  𝑋 = (4, 3) 𝑌 = (24, −8) 

 

 

 

 

5)    𝑅𝑆⃑⃑⃑⃑  ⃑ = 𝑋𝑌⃑⃑⃑⃑  ⃑ given that 𝑅 = (3,− 7)  𝑆 = (8, 12)  𝑋 = (8, 12) 𝑌 = (3,−7) 

 

 

 

 



Draw each of the vectors on the grid below. Label each vector with the letters used. 

6)   𝐴 = (3, 4) 𝐵 = (−1, 2) 

  

7)   𝐶 = (−9,−7)  𝐷 = (−4,−6) 

 

8)   𝐸 = (10,−3)  𝐹 = (5, 2) 

 

9)   𝐺 = (2, 7)  𝐻 = (2, 3) 

 

10)   Find the direction (component form) and magnitude for problems 8 and 9. 

 

 

 

Find the direction and magnitude for each of the following. 

11)           12)               13)                                         14)                

 

 

 

 

Use the given information to find the following resultant vectors algebraically. 

𝑣 = 〈3, 2〉 𝑢⃑ = 〈−6, 2〉 𝑅 = (−2, 11) 𝑆 = (4,−5) 𝑇 = (10, 3)  

15)   𝑢⃑ + 𝑣      16)   𝑢⃑ − 𝑣     17)  17.   𝑢⃑ + 𝑅𝑆⃑⃑⃑⃑  ⃑  

 

 

18)   𝑅𝑆⃑⃑⃑⃑  ⃑ − 𝑆𝑇⃑⃑ ⃑⃑      19)   2𝑢⃑ + 3𝑣     20)   3𝑆𝑇⃑⃑ ⃑⃑  − 𝑅𝑇⃑⃑⃑⃑  ⃑ 

 



 

Find the resultant vector geometrically. 

 

 

21)   𝐮 + 𝐯       22)   𝐮 − 𝐯 

 

 

 

 

 

23)   3𝐯       24)   2𝐮 + 𝐰 

 

 

 

 

 

25)   2𝐮 − 𝐰      26)   𝐰 + 2𝐱 
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